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Assignment (8) - Solutions
Question 1

The solid shatt is subjected to a torque. bending moment. and shear force as shown, Determune the
principal stresses acting af pomts 4 and & and the absolute maximum shear stress.
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Question 3
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Determine the equations of the elastic curve for the g

beam using the x coordinate. Specily the slope at 4 and
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Question 4

Determine the deflection of end B of the cantilever
beam. ET is constant.

Support Reactions and % Diagram. As shown in Fig. a.

I
Moment Area Theorem. Since A is a fixed support, #, = {I. Referring 1o the
geometry of the elastic curve, Fig b,
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Question 5

Determine the deflection at € and the slope of the
beam at A, 8, and C. £/ is constant,
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